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2. Bl age BIHI(E R 10 SR if(age=5)EL if(age==5)iEWy 6. THIEAMEGEER ? FEZUTELR (10 47)
FEEARVZESE 7 (10 47) 01 int chineseScore;
02 System.out.print(“FFiH Al LA © 7);
03 chineseScore= parselnt(System.console.readLine());
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7. FEERTHERE - (10 43)
app2_score.java:10: error: incompatible types: String
cannot be converted to short
chineseScore= System.console.readLine();

1 error

4. A a=5; b=15; c=5 » FAE THIHEZ > 455 n=7 (20 77)
01 if (a<=11 || b>=10)

02 {

03 n=3;

04 if (c<=5){n=2;}
05 else {n=9; }

06 }

07 else

08 {n=11;}



